lllowsky — Chapt. 6 & 7
Larson — Chapt. 5
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!Please show all work neatly and orderly for credit. Each question is worth 4 points.

Provide an appropriate response.
1) Find the area of the indicated region under the standard normal curve.
. 9896 — 3264- / 5567{

21

-0.45 g

2) Find the area under the standard normal curve to the rightof z = 1.

[~ 892 - [[1587]

3) The SAT is an exam used by colleges and universities to evaluate undergraduate applicants. The test scores are
normally distributed. In a recent year, the mean test score was 1475 and the standard deviation was 308. The test

scores of four students selected at random are 1930, 1340, 2150, and 1450.
a) Find the z-scores that correspond to each value

b) Determine whether any of the values are unusual.
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4) Use the standard normal distribution to find P(z < -2.33 or z > 2.33).

P(24-2.33 oe 27233)° . 0099 + (- . 990/ ) :




Find the probability of z occurring in the indicated region.
5)

Plosz o 5) - (9332
| — 500

:4339
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Provide an appropriate response.
6) Assume that the random variable X is normally distributed, with mean u = 80 and standard deviation o = 15.
Compute the probability P(X > 92).

PIX>%2) =P (2> .08) = |~ 788/ =/.2/9

Provide an appropriate response. Use the Standard Normal Table to find the probability.
7) IQ test scores are normally distributed with a mean of 100 and a standard deviation of 15. An individual's IQ
score is found to be 90. Find the z-score corresponding to this value.

'22 70'—100 ‘;L"'-éé;;/

8) An airline knows from experience that the distribution of the number of suitcases that get lost each week on a
certain route is approximately normal with p = 15.5 and o = 3.6. What is the probability that during a given
week the airline will lose between 10 and 20 suitcases?

Pto 2x 120y= P (1,53 LT& 1:35) = L 894y - o630 :

9) The distribution of cholesterol levels in teenage boys is approximately normal with u =170 and o = 30. Levels
above 200 warrant attention. If 95 teenage boys are examined, how many would you expect to have cholesterol
levels greater than 2257

P(X>225) =P(% > 1-83) = |- %64 = o338 (95)
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Provide an appropriate response.
10) Find the z~score that corresponds to the given area under the standard normal curve.

[~ .956%= .0436 =7 [Z‘-’- -'/‘7/7

11) For the standard normal curve, find the z-score that corresponds to the 90th percentile.
go&®

[z-. T 9@

12) The scores on a mathematics exam have a mean of 70 and a standard deviation of 5. Find the x~value that
corresponds to the z-score 2.33.

K= O+ 20 = 75*(9-55)(5):

13) Assume that the salaries of elementary school teachers in the United States are normally distributed with a
mean of $29,000 and a standard deviation of $2000. What is the cutoff salary for teachers in the top 10%?

W: 99)000 ’,wo
¢~2 §,000 .70 |
Z =108

X= Q9,°00) + [-28( 2 000)
’bl, 56;1]
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